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GSI 2 - S6 / BEFORE vs AFTER
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GSI 2 - S7 / BEFORE vs AFTER
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GSI1 - Number of reconstructed vertices (n=23) and IP

n = number of tracks (parent + daughters)
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* Fine tuning MC: smearing etfects to
be implemented in MC to reproduce
small misalighments in positions



GSI1 - Vertex Plate distribution

Distributions normalized to beam particles, requirement of at least 3 tracks in the vertex.
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GSI1 - Fragments’ multiplicity distribution

Distributions normalized to beam particles, requirement of at least 3 tracks in the vertex.
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GSI1 - Fragments’ angular distribution

Distributions normalized to beam particles, requirement of at least 3 tracks in the vertex.
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GSI2 - Number of reconstructed vertices (n=3) and IP

n = number of tracks (parent + daughters)
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GSI2 - Vertex Plate distribution

Distributions normalized to beam particles, requirement of at least 3 tracks in the vertex.
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GSI2 - Fragments’ multiplicity distribution
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GSI2 - Fragments’ angular distribution
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Preliminary results
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Mean Oxygen Kinetic Energy per layer distribution (MC)

Percentage

Surviving Oxygens per layer
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